Telluride 4x4 (Model 67044-1) Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

Chassis & Attachments

Bearings & Bushings

4607 Ball bearings (5x11x4mm) (8)
4612 Ball bearings (10x15x4mm) (2).
2728 Ball bearings (5x8x2.5mm) (2)......ccceeeverienrennannns -
5119 Ball bearings, blue rubber sealed (10x15x4mm) (2) ........cccceevuerene
5120 Ball bearings, blue rubber sealed (12x18x4mm) (2) .........ccceevueenee
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2).... .
5114 Ball bearings, blue rubber sealed (5x8x2.5mm) (2) ..........c.c......
5117 Ball bearings, blue rubber sealed (6x12x4mm) (2)
5118 Ball bearings, blue rubber sealed (8x16x5mm) (2) .
2545  Bellcrank bushings (plastic) (5x8%2.5mm) (4)......cccccovovviienniininenns
1985 PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearings)...

Body & Accessories

1926  Antenna caps, vinyl (2)/ antenna Spool.............cccceiirieiiiiiinenene.
1726  Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)..............
3935 Body clip (mounting clip), angled, 90-degrees (10) ..
3934  Body clips, heavy duty (12) .....ccoooeiiiiiiiiiicc e
1815 Body WasShers (8) .........cccouiiiiiiiiiii i
6716 Body washers, foam, 2mm (2)/ 3mm (2)/ 4mm (4).
6712 Body, Telluride (clear, requires painting)
6712X Body, Telluride, ProGraphix (graphics are printed, requires paint
& final color application)/ decal sheet............c.coceiiiiiiiiiiiiics
2514 Decal sheet, racing SPONSOrS.........ccccerrrirririerrreeerersnee e eesnees
9950 Official Team Traxxas racing decal set (flag logo/ 6-color).......
5185 Tires, rubber (2) (fits Traxxas wheelie bar wheels)....................
4974 Wheelie bar arm (1)/ connector (1)/ 3x12 SS (hex drive) (4)......
6777 Wheelie bar mounts/ rear skidplate (black) ..........ccccooioeierinennnens.
4976 Wheels (4)/ Axles (2), for Maxx wheelie bar.............cccccvvinriiinnns
5186A Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball bearings
(4)/ axles (2)/ rubber tires (2) ......ccceveevereririercnereee e
5186 Wheels, aluminum (red-anodized) (2)/ 5x8mm ball bearings
4)/ axles (2)/ rubber tires (2

5119A Ball bearings, black rubber sealed (10x15x4mm) (2)........cccccvcuveenne
5120 Ball bearings, blue rubber sealed (12x18x4mm) (2) .. .
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2) .
5117 Ball bearings, blue rubber sealed (6x12x4mm) (2) .....cccccevoeeerneen.
6893X Bearing adapter, 6160-T6 aluminum (blue-anodized)
(1)/10x15x4mm ball bearing (blue rubber sealed) (1) (for

slipper shaft)........ccccvciiriinerc e ———
6741 Cover, center driveshaft (clear) ..
6877A Cover, gear (Clear)........cccuurririmrsinsre s s

6877  Cover, gear/ motor wire hold-down Clip .........cccocveriiiiiniiiicices
6814 Differential kit, center (complete)
6888 Drive hub, center, rear (1)/ front (1)/screw pin..........cccocoovevieeennnns
6888X Drive hub, front, hardened steel (1)/ screw pin (1).....ccccceeveiunene
6755 Driveshaft, center, 6061-T6 aluminum (blue-anodized). .
6756 Driveshaft, center, plastic (blue)/ screw pin
6766 Gear clutch, complete (high stall)
6883 Gear set, center differential (output gears (2)/ spider gears
(2)/ spider gear shaft)..........ccccoervirriicmrnnrrr s
5148 Grease, White lIthium...........oooviiiiii e
6884 Housing, center differential/ x-ring gaskets (2)/ ring gear
gasket/ bushings (2)/ 5x10x0.5 TW (2)/ CCS 2.5x8 (4) ......ccceune
6893  Input shaft (slipper shaft)/ bearing adapter (1)/pin (1).......cc.ccccenee
6890  Plate, MOtOr.......veveeieiccceceeeeeee e
6890X Plate, motor, 6061-T6 aluminum (blue-anodized)
5352R Rebuild kit (heavy duty), slipper clutch (steel disc/ aluminum
friction pads (3)/ spring, Revo (1)/ spring, Maxx (1)/ 2x9.8mm
pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)).cccocrirrinnrnieninnns
5352X Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring
(2)/ 2x9.8mm pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1))....
5552X Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring
(2)/ pin/ 4.0mm NL (1)/ 5.0mm NL (1)).ccccirmrieriininesiennesennenns
2575  Screws, 3x6mm button-head machine (hex drive) (6) ...................
2554  Screws, 3x6mm cap-head machine (hex drive) (6).... .
3932 Screws, 3x6mm flat-head machine (hex drive) (6) ...........ccceeevneene
1647 SiliCONE GrEASE.....cuviiieiieieieie ittt
6878 Slipper clutch, complete.........cccceeeerreccericnens
5556 Slipper pressure plate & hub (aluminum alloy). .
5351 Slipper pressure plate and hub (alloy) .........ccocviiininniniiienneen.

3619

7415X
3628

6735
6722
6727

6727X

3629
5185
4974
6777
4976
5186A

5186

5119
5117
5118
5381

6814
6882X

6881
6880
5379X
6879
3965
1647

6455

5119
5116
5117
6828X
6760

6761
6759
6439
6854X

6853X
1654X

5114
2545
6823
6823R
6830X
6743
6832X

6832R

6832
6895

6897

6846

Body mounts, front & rear/ body mount posts, front & rear
(adjustable)/ 2.5x18mm screw pins (4)............
Body mounts, front & rear/ body post, rear (1)
Box, receiver (sealed)/ foam pad/2.5x8mm CS (4)/ 3x10mm CS

CR@SSIS .ttt
Hold down, battery (2)/ hold down retainer/ battery post/ angled
DOAY CHP e
Hold down, battery/ hold down retainer/ battery post/ angled
body clip (allows for installation of taller, multi-cell batteries).
Seal kit, receiver box (includes o-ring, seals, and silicone grease).
Tires, rubber (2) (fits Traxxas wheelie bar wheels)....................
Wheelie bar arm (1)/ connector (1)/ 3x12 SS (hex drive) (4) ......
Wheelie bar mounts/ rear skidplate (black)............ccccoocceeiiinnnnes.
Wheels (4)/ Axles (2), for Maxx wheelie bar..........ccccoceniiinreininnns
Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball bearings
(4)/ axles (2)/ rubber tires (2)......ccceoeremrrerenierinere e
Wheels, aluminum (red-anodized) (2)/ 5x8mm ball bearings
4)/ axles (2)/ rubber tires (2

Ball bearings, blue rubber sealed (10x15x4mm) (2) ........ccccocveeenne
Ball bearings, blue rubber sealed (6x12x4mm) (2) ....
Ball bearings, blue rubber sealed (8x16x5mm) (2) .... .
Carrier, differential/ x-ring gaskets (2)/ ring gear gasket/ 6x10x0.5

Differential kit, center (complete).........ccccevvriiiirinsinnsinenseessnnns
Gear set, differential (output gears (2)/ spider gears (2)/ spider

gear shaft, carrier SUPPOrt) .........ccoeiieiieiiiie e
Housings, differential, front...........ccccoiiiiii s
Housings, differential, rear.............ccoccooviiiiiii
Ring gear, differential/ pinion gear, differential.... .
Ring gear, differential/ pinion gear, differential (rear)......................
Screws, 2.5x8mm cap-head machine (6) ...........ccccvviiiiiiiiiees
SilICONE GrEASE......i ittt

Axle carriers, rear, 6061-T6 aluminum, left & right (blue-

ANOAIZEd) ..o
Ball bearings, blue rubber sealed (10x15x4mm) (2) .......ccccceveeenne
Ball bearings, blue rubber sealed (5x11x4mm) (2) ......ccoocvveriieenns

Ball bearings, blue rubber sealed (6x12x4mm) (2)...
Differential output yokes, heavy duty (2)/ screw pin (2)
Driveshaft assembly, front, heavy duty (1) (left or right) (fully
assembled, ready to install)/ screw pin (1)......ccccovveeeiieeiniineninenn,
Driveshaft assembly, rear, heavy duty (1) (left or right) (fully
assembled, ready to install)/ screw pin (1)
Half shafts, heavy duty (external splined (2)/ internal splined (2))/
MEtal U-JOINES (4)...veeeiiiiieiiiie e
Steering blocks, 6061-T6 aluminum, left & right (blue-
ANOAIZEd) ....eeiieiiiir e ————————————
Stub axles, front, heavy duty (2)/ yokes (2)/ pins (4).. .
Stub axles, rear, heavy duty (2)/pins (2).......cccceverviiiiiieniecee,
Wheel hubs, hex (blue-anodized, lightweight aluminum) (2)/
AXIE PINS(4) .ueiueiiiniiniiiiiiiiiie i

Front Suspension & Steering

Ball bearings, blue rubber sealed (5x8x2.5mm) (2).........ccccucu....

Bellcrank bushings (plastic) (5x8x2.5mm) (4)...............
Bulkhead tie bars, front & rear, aluminum (blue-anodized).....
Bulkhead tie bars, front & rear, aluminum (red-anodized)
Bulkhead, front ..o .
Camber link set (plastic/ non-adjustable) (front &rear)....................
Caster blocks (c-hubs), 6061-T6 aluminum, left & right (blue-
ANOAIZEd) ..ot ——————
Caster blocks (c-hubs), 6061-T6 aluminum, left & right (red-
ANOAIZEd) ...ooieiiiie i —————————
Caster blocks (c-hubs), left & right............ccooeiiiiiiiiiices
Linkage, front sway bar (2) (assembled with rod ends, hollow
balls and ball StudS).........cccoeeoiiirieie e
Linkage, rear sway bar (2) (assembled with rod ends, hollow
balls and ball Studs)........ccccerimiiiinn
Linkage, steering (3x20mm turnbuckle) (1)/ rod ends (2)/ hollow
DAIIS (2) 1.ttt



Page 2 Telluride 4x4: TQ 2.4GHz Radio (Model 67044-1) Parts List

2742 Rod ends, long (6)/ hollow ball connectors (6)..........ccccveeiieereennnns
3646 Screws, 3x15mm flat-head machine (hex drive) (6)..........cccccueen...
5529  Shim set, 3x7x1mm (2), 3x6x0.5mm (4), 3x7x2mm (2)/ hollow
balls, captured (4) ...
6839 Shock tower, front .
6839X Shock tower, front, 7075-T6 aluminum (blue-anodized)...........
6845X Steering bellcranks/ servo saver/ servo saver spring/ servo spring
retainer/servo horn, Steering ..........cccoeveviiiiiiiiiieccccceeee
6837X Steering blocks, 6061-T6 aluminum, left & right (blue-
anodized)
6837R Steering blocks, 6061-T6 aluminum, left & right (red-
F T eTe 1721 ) N
6837  Steering blocks, left & right
6854X Stub axles, front, heavy duty (2)/ yokes (2)/ pins (4).
6731 Suspension arms, front/rear (left & right) (2)............. .
6834  Suspension pin set, complete (front and rear)..........cccccoviieenies
6898 Sway bar kit (front and rear) (includes front and rear sway
bars and adjustable linkage) ........cc.cceverrieinininninee s
3139  Turnbuckles (62mm) (front tie rods) (2)
3139A Turnbuckles, aluminum (blue-anodized), toe links, 59mm (2)
(assembled w/ rod ends & hollow balls) (requires 5mm
aluminum wrench #5477).......ooieriirinisre s
3139X Turnbuckles, aluminum (red-anodized), toe links, 59mm (2)
(assembled with rod ends & hollow balls) (requires 5mm
aluminum wrench #5477).......ccccvviiniiiini e
6896 Wires, sway bar (front & rear, hard & soft) / 3x6 FCS (4)..

1926  Antenna caps, vinyl (2)/ antenna spool...........c.ccccoeeiiiiiiiinciecinns

1726  Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1).............

3642 Attachment screws, shock (3x12mm shoulder screws) (6)............

1552  Backplate screws (3x8mm cap-head machine) (6)/washers (6)/
wrench

3935 Body clip (mounting clip), angled, 90-degrees (10) ..

3934 Body clips, heavy duty (12)

1589 Double-sided adhesive tape (25mm x 25mm) (2).......ccccceeviveninns

2586 Head screws, 3x15mm cap-head machine (hex drive) (6) (TRX

2745  Nuts, 3mm nylon 10CKING (12) .....veeieiiiiiie e
3647 Nuts, 4mm flanged nylon locking (steel, serrated) (8).. .
1747 Nuts, 4mm nylon locking (10).......ccevrriieririire e
1747R Nuts, aluminum, flanged, serrated (4mm) (blue-anodized) (4).
1747G Nuts, aluminum, flanged, serrated (4mm) (green-anodized)

1985 PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearings)..
5525 Rod ends (12)/ hollow balls (12).......cciiiiiiiiiiieiiieiieciee e
2742X Rod ends, short (6)/ hollow balls (6)..........cccoceevviiiiriiiiiiiicee,
3347  Screws, 2.5x5mm button-head machine (hex drive) (6) ................
3215 Screws, 2.5x6mm cap-head machine (hex drive) (6)...
3965 Screws, 2.5x8mm cap-head machine (6) .................
2577  Screws, 3x10mm button-head machine (hex drive) (6)
2578 Screws, 3x12mm button-head machine (hex drive) (6) ...
2552  Screws, 3x12mm countersunk machine (6) (hex drive)...
2579  Screws, 3x15mm button-head machine (hex drive) (6)
3646 Screws, 3x15mm flat-head machine (hex drive) (6)
2583  Screws, 3x18mm button-head machine (hex drive)
2580 Screws, 3x20mm button-head machine (hex drive)
2591  Screws, 3x23mm button-head machine (hex drive)

)

)

(

2582  Screws, 3x30mm button-head machine (hex drive
2592  Screws, 3x40mm button-head machine (hex drive
2575  Screws, 3x6mm button-head machine (hex drive)
2554  Screws, 3x6mm cap-head machine (hex drive) (6)..........ccceeenneen.
2534  Screws, 3x6mm countersunk machine (6) (hex drive).
3932 Screws, 3x6mm flat-head machine (hex drive) (6) ......
2576  Screws, 3x8mm button-head machine (hex drive) (6) . .
3931 Screws, 3x8mm flat-head machine (hex drive) (6) .............cc.........
3937  Screws, 4x12mm button-head machine (hex drive) (6)
2542  Screws, 4x12mm countersunk machine (hex drive) (6)...
2546  Screws, 4x15mm countersunk machine (hex drive) (6)
2743  Set (grub) screws, 3mm hardened (12).......ccccoevviiiieiieeiiiieieens
3642X Shoulder screws, Ultra Shocks (3x12 hex drive) (6).
2754  Stub axle pins (4)
2746  Washers, 3x6mm metal (12) .........ocieeeeiiiiiiiiiiiieeeeeeeeeea

6784 LED lightbar (chrome, 4 clear lights)..........ccceeveveeeiciciiiiierereennnes
Motors & Electronics

1726  Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1).............
6860A Motor mount (assembled with 3x6 flat-head machine screw)/
B.0MIM NL (1) 1ottt
6860R Motor mount, 6061-T6 aluminum (blue-anodized) .. .
3785 Motor, Titan 12T (12-Turn, 550 SIZ€)........cceeviieiiiiiiiiiiieiiee e

3351

3347
3932
2075
3018R

2854X
2843X
2976
2938

6548

2914
2927X

2975
2970

2929
6525
6555

6535

6519
6518
3932
6552

6526
6527
6520
6521
2075
6550
6551
6539

6538
6540
2928
6509X
6507X

6516
6528

6529

6530

67044-1

6823
6823R
6829
6743
1952X

1952
1952A
6895

6897

2742
5529

6838
6838X
6853X
6731
6834

Motor, Velineon 3500, brushless (assembled with 12-gauge
wire and gold-plated bullet connectors)............cccccinriiiriicinnnnn.
Screws, 2.5x5mm button-head machine (hex drive) (6)..
Screws, 3x6mm flat-head machine (hex drive) (6)......
Servo, digital high-torque (ball bearing), waterproof
XL-5 Electronic Speed Control, waterproof (land version, low-
voltage detection, fwd/rev/brake)...

Radio System, Batteries & Chargers
10000mAh 7.4v 2-Cell 25C LiPo Battery ....
5800mAh 7.4v 2-Cell 25C LiPo Battery ...
AC to DC converter, 40W
Adapter, Traxxas iD Lipo Battery. (Connects Traxxas iD
batteries to LiPo chargers with separate balance ports)...........
Battery door, TQ 2.4 transmitter (replacement for #6516, 6517,
6528, 6529, 6530 transmitter)
Battery, Power Cell AA Alkaline (4)
Charger, A/C, 500 mA (7 cell, NiMH) (includes plug inserts for
US/Japan, European Union, United Kingdom, and Australia)...
Charger, DC, 4 amp (6 - 7 cell, 7.2 - 8.4 volt, NIMH) ............cccc..
Charger, EZ-Peak Plus, 4 amp, LiPo/NiMH with iD Auto
Battery Identification...........cccvuevereniccin
Charging Bag, 30 watt hours rated ...........ccccccvrvernieiiinisieniienns
Communication link, telemetry expander..........ccccccviiniieniinnns
Mount, telemetry expander (fits Slash 4X4, Stampede 4X4,
Rally, Jato) ......ccciiiieieinir e
Mount, temperature sensor (electric motors)/ wire tie/
thermal pad.........ocoii e ——
Receiver, micro, TQ 2.4GHz (3-channel)
Receiver, micro, TQi 2.4GHz with telemetry (5-channel)............
Screws, 3x6mm flat-head machine (hex drive) (6)...............ccco.....
Seal kit, expander box (includes o-ring, seals, and silicone
[ L= =
Sensor, auto-detectable, temperature .
Sensor, auto-detectable, voltage .........ccccvvvinnieininininineniinns
Sensor, RPM (long)/ 3x4mm BCS (2)/ 3x4 GS (1) ..ccovverrveersnnnns
Sensor, temperature and voltage (long).................
Servo, digital high-torque (ball bearing), waterproof.
Telemetry expander, TQi radio system...................
Telemetry GPS module, TQi radio system .
Telemetry trigger magnet holder, center differential/ magnet
5x2mm (1)/ 3X8MM BCS (3)..cueieiriiicierieeeeee e
Telemetry trigger magnet holders, spur gear/ magnet, 5x2mm
(1)/ 3x8mm CCS (3)/ 3Xx10MM CCS (3)...crieermreeererreerseernreseernennnes
Telemetry trigger magnet, 5X2mm (1).....cccceviienieniicniecsiensecnnnnns
Temperature sensor, EZ-Peak Plus...........cccoeeirinrninnineniennnens
TQi 2.4 GHz radio system, 2-channel Traxxas Link enabled
(2-ch transmitter, 5-ch micro receiver) ........ccoccveevveriinrniecncnns
TQi 2.4 GHz radio system, 4-channel with Traxxas Link
Wireless Module (4-ch transmitter, 5-ch micro receiver)...........
Transmitter, TQ 2.4GHz, 2-channel (transmitter only) ....................
Transmitter, TQi Traxxas Link enabled, 2.4GHz high output,
2-channel (transmitter only) ........ccccociiiinrin e
Transmitter, TQi Traxxas Link enabled, 2.4GHz high output,
3-channel (transmitter only) ... e
Transmitter, TQi Traxxas Link enabled, 2.4GHz high output,
4-channel (transmitter onl

Ready-To-Race Model

Telluride: 1/10-scale 4X4 Electric Extreme Terrain 4WD
MONSEEr TPUCK......coiiiiiiiiiiiiic

Bulkhead tie bars, front & rear, aluminum (blue-anodized)
Bulkhead tie bars, front & rear, aluminum (red-anodized)........
BUIKNEAA, F AT ........eeeeeeeeeie et
Camber link set (plastic/ non-adjustable) (front &rear)....................
Carriers, stub axle (blue-anodized 6061-T6
aluminum)(rear)(2)......ccccevermrremrierrisese s
Carriers, stub axle (rear) (2) .
Carriers, stub axle (red-anodized 6061-T6 aIummum)(rear)(Z) .
Linkage, front sway bar (2) (assembled with rod ends, hollow
balls and ball Studs).........cccvvmrimriniin s
Linkage, rear sway bar (2) (assembled with rod ends, hollow
balls and ball Studs)........ccccrriiiriiini i ——————
Rod ends, long (6)/ hollow ball connectors (6)...........ccccueeiueeniennns
Shim set, 3x7x1mm (2), 3x6x0.5mm (4), 3x7x2mm (2)/ hollow
balls, captured (4)...
Shock tower, rear
Shock tower, rear, 7075-T6 aluminum (blue-anodized) .............
Stub axles, rear, heavy duty (2)/pinS (2) ......ccoveeiieeeeiiiieeeiieeeee
Suspension arms, front/rear (left & right) (2)..
Suspension pin set, complete (front and rear) ..........cccoccevveiinens




Page 3 Telluride 4x4: TQ 2.4GHz Radio (Model 67044-1) Parts List

6898

1965

1942

Sway bar kit (front and rear) (includes front and rear sway
bars and adjustable linkage)

Piston head set, (2 sets of 3 types)/ shock collars (2)/ spring
retainers (2) ..o ——————
Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball
SCIEWS (2) 1eeeiueteiiee ettt ettt ettt ettt et e sttt

2742X Rod ends, short (6)/ hollow balls (6)..........ccoueeiieeiiiiiieiiieeiieenee,

2760

Shock caps, aluminum (2) ........cccvcimriimniirnner e

1664T Shock shafts, hardened steel, titanium nitride coated (long)

(2) orereerrnseeseesnsesessssseessesssseesssss s ss s sss e ssaa et aaseenestean

2765T Shock shafts, hardened steel, titanium nitride coated (X-

1664
2765
4760
4761

1666

2664
2666
5862

2660

2662

2669

2362
1942

oY T ) I 7 TN
Shock shafts, steel, chrome finish (Iong) (2).......ccccooviiiiiiiiiennns
Shock shafts, steel, chrome finish (X-long) (2)........cccccriiiinnnnns
Shocks, long (hard-anodized & PTFE-coated T6 aluminum)

W/0 springs (front) (2) ......cccevrevmreininseseee e
Shocks, X-long (hard-anodized & PTFE-coated T6 aluminum)
A LIy oLy T T o (=T TN )
Silicone shock oil (30 wt

Shocks [(Pro-level Aluminum)

Big Bore shock cylinder (long) (1)
Big Bore shock cylinder (XX-long) (1) ....
Big Bore shocks (hard-anodized & PTFE-coated T6
aluminum) (assembled with TiN shafts and springs) (front &
L= 1 T ) TR
Big Bore shocks (long) (hard-anodized & PTFE-coated T6
aluminum) (assembled with TiN shafts) w/o springs (front)

Big Bore shocks (XX-long) (hard-anodized & PTFE-coated T6
aluminum) (assembled with TiN shafts) w/o springs (rear) (2)
Piston head set (2-hole (2)/ 3-hole (2))/ shock mounting
bushings & washers (2) (Big Bore Shocks) .........cccccvvueeercnnns
Rebuild kit, Ultra shocks (for 2 shocks ..........ccccoeeiicerennncnnen.
Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball
SCIEWS (2) 1ttt ettt ettt ettt ettt

2742X Rod ends, short (6)/ hollow balls (6)..........ccceeiiieiiiiiiiiiiieciieeee,

2667

Shock caps, aluminum (2)/ (Big Bore Shocks) ..........ccccvecienenns

1664T Shock shafts, hardened steel, titanium nitride coated (long)

(2) corereeereseeseesmseeessssseessessseeesssssessss s sss e st ess e saaseenestans

2656T Shock shafts, hardened steel, titanium nitride coated (xx-

1664
2656
1765
1666
2668

6863
6864
6862
6861
6857
5860

6867
6868
6866
6865
6858
5859

3642

3766A Body, Ultra Shock(s) (XXL) (grey) (2)...

2362
1942

2742X Rod ends, short (6)/ hollow balls (6)..

3767

oY T ) I 7 TN
Shock shafts, steel, chrome finish (Iong) (2).......ccocevviiiiiiiiiieninns
Shock shafts, steel, chrome finish (xx-long) (2).
Silicone diaphragms (4).......ccueeeueiiiiiiieie e
Silicone shock 0il (30 Wt).......ccoiiiiiiiiiiiii e
Spring retainers, upper & lower (2)/ spring pre-load spacers:
1mm (4)/ 1.5mm (2)/ 2mm (2)/ 4mm (2)/ 8mm (2) (Big Bore
Shocks)
Springs, front (progressive, +10% rate, pink) (2)
Springs, front (progressive, +20% rate, blue) (2).........ccccvvrunenne
Springs, front (progressive, -10% rate, green) (2).........cccuvruerene
Springs, front (progressive, -20% rate, orange) (2)
Springs, front (white) (progressive rate) (2)........cccccevveerrrierniinnns
Springs, front (white) (progressive rate) (2) (fits #5862
aluminum Big Bore Shocks)........ccccoccoiiiiiieniccceenceeen e
Springs, rear (progressive, +10% rate, pink) (2) ......c.ccccvevernnns
Springs, rear (progressive, +20% rate, blue) (2) .........cccocvriennnns
Springs, rear (progressive, -10% rate, green) (2)
Springs, rear (progressive, -20% rate, orange) (2)..
Springs, rear (white) (progressive rate) (2) ........ccooevierieriennnnnns
Springs, rear (white) (progressive rate) (2) (fits #5862
aluminum Big Bore shocks).

Shocks [(Ultra Shocks)

Attachment screws, shock (3x12mm shoulder screws) (6).............
3765A Body, Ultra Shock(s) (long) (grey) (2)......ccccoveeevvvrevccennen.

Rebuild kit, Ultra shocks (for 2 shocks
Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball
SCIEWS (2) 1eeeiuiteiiite ettt ettt ettt ettt e et e e st e e st eente et eenbeas

Shock caps (2)/ shock bottoms (2) .................

3767A Shock caps, aluminum (blue-anodized) (4) (fits all Ultra

SHOCKS) ...ueiiiiiie it

3767G Shock caps, aluminum (green-anodized) (4) (fits all Ultra

SNOCKS) ...ueiiieiiie ittt

3767X

1664T

2656T

1664
2656
1765
1666
3769
3768

3758
3758T
3758A
6863
6864
6862
6861
3758X
6857
3757
3757T
3757A
6867
6868
6866
6865
2457A
3757X
6858
4957
3760

3762

3760A

3762A

Shock caps, aluminum (red-anodized) (4) (fits all Ultra
ShOCKS) ...ueiuiiiriinisir e
Shock shafts, hardened steel, titanium nitride coated (long)

Shock shafts, hardened steel, tltanlum nitride coated (xx-
long) (2)
Shock shafts, steel, chrome finish (long) (2)........cccccovieiiiiiiene
Shock shafts, steel, chrome finish (xx-long) (2) ...........ccccooeiiieie
Silicone diaphragms (4)
Silicone shock oil (30 wt)
Spring pre-load spacers: 1mm (4)/ 2mm (2)/ 4mm (2)/ 8mm (2) .....
Spring retainers, upper & lower (2)/ piston head set (2-hole (2)/ 3-
hole (2)).ccvveveeiieiieiiiens .
Springs, front (black) (2)...
Springs, front (blue) (2).....
Springs, front (green) (2) ....c.cccevvvrnieniieeiieessnens
Springs, front (progressive, +10% rate, pink) (2) .. .
Springs, front (progressive, +20% rate, blue) (2) .......ccccevernuns
Springs, front (progressive, -10% rate, green) (2)..........cceeeevrunen
Springs, front (progressive, -20% rate, orange) (2)... .
Springs, front (Whit€) (2) .....ocvvieieieiiiiiiee it
Springs, front (white) (progressive rate) (2) ........ccceeveveieriiennnns
Springs, rear (black) (2) .......ccoceeieriurninenen.

Springs, rear (blue) (2)..
Springs, rear (green) (2)
Springs, rear (progressive, +10% rate, pink) (2).......cccccvevrnrnene
Springs, rear (progressive, +20% rate, blue) (2).........cccvcevrrrnnene
Springs, rear (progressive, -10% rate, green) (2) ..
Springs, rear (progressive, -20% rate, orange) (2)
Springs, rear (Whit€) (2).......cuveiueiiiiieiiieeiie et
Springs, rear (white) (2) .
Springs, rear (white) (progressive rate) (2).......cccccerverrieriiennnns
Springs, red (for Ultra Shocks only) (2.5 rate) (fir) (2) ...............
Ultra Shocks (black) (long) (complete w/ spring pre-load
spacers & springs) (front) (2) .......ccceeerieniinenien e
Ultra Shocks (black) (xx-long) (complete w/ spring pre-load
spacers & springs) (rear) (2).....c..ccevverrieineeinesssssressessssse e
Ultra Shocks (grey) (long) (complete w/ spring pre-load spacers &
[ o141 0T 1) N (2 USSR
Ultra Shocks (grey) (xx-long) (complete w/ spring pre-load
spacers & springs) (rear) (2

6893X

6814
6888
6888X
6766
6883

6884

3793

5352R

5352X

5552X

2554
6878
5556
5351

2428
2416
1918
2419
2423
2426
2431
4725
4728
4676

4683

Slipper Clutch Components
Bearing adapter, 6160-T6 aluminum (blue-anodized)
(1)/10x15x4mm ball bearing (blue rubber sealed) (1) (for
slipper shaft)......cccciii e ————
Differential kit, center (complete).......cccceevrvmnirnieiicniicniecsciens

Drive hub, center, rear (1)/ front (1)/screw pin ........
Drive hub, front, hardened steel (1)/ screw pin (1) .
Gear clutch, complete (high stall) ..........ccooooiiiiiiiie
Gear set, center differential (output gears (2)/ spider gears
(2)/ spider gear shaft)....
Housing, center differential/ x-ring gaskets (2)/ ring gear
gasket/ bushings (2)/ 5x10x0.5 TW (2)/ CCS 2.5x8 (4).......ccevuenee
Input shaft (slipper shaft) / spring pin . .
Rebuild kit (heavy duty), slipper clutch (steel dlscl aluminum
friction pads (3)/ spring, Revo (1)/ spring, Maxx (1)/ 2x9.8mm
pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1))..cccooerirrrierieniennns
Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring
(2)/ 2x9.8mm pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)) ....
Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring
(2)/ pin/ 4.0mm NL (1)/ 5.0mm NL (1)) .
Screws, 3x6mm cap-head machine (hex drive) (6). .
Slipper clutch, complete..........ccocceriiiniini e,
Slipper pressure plate & hub (aluminum alloy).........cccoceniieenns
Slipper pressure plate and hub (allo

Spur Gears & Pinion Gears

Gear, 12-T pinion (48-pitch)/ set screw............cccccocoiiiiiiiiiiene
Gear, 16-T pinion (48-pitch) / set screw.
Gear, 18-T pinion (48-pitch) / set screw
Gear, 19-T pinion (48-pitch) / set screw
Gear, 23-T pinion (48-pitch) / set screw.
Gear, 26-T pinion (48-pitch)/set screw ...
Gear, 31-T pinion (48-pitch) / set screw....
Gear, pinion (25-tooth) (48-pitch) / set screw.. .
Gear, pinion (28-tooth) (48-pitch)/ set screw .........ccccevcieeiiinnnnns
Spur gear, 76-tooth (48-pitch) (for models with Torque-
Control slipper ClUtCh) ..........cccoiiiiiiiiiiiie e
Spur gear, 83-tooth (48-pitch) (for models with Torque-Control
SlipPer CIULCH) ...




Page 4 Telluride 4x4: TQ 2.4GHz Radio (Model 67044-1) Parts List

1552

5114
2545
6846

2742
6845X

2746

Backplate screws (3x8mm cap-head machine) (6)/washers (6)/

WIENCH L.
Ball bearings, blue rubber sealed (5x8x2.5mm) (2)
Bellcrank bushings (plastic) (5x8%2.5mm) (4)......ccccevvverivenieennnnn
Linkage, steering (3x20mm turnbuckle) (1)/ rod ends (2)/ hollow

DAIIS (2) 1.t
Rod ends, long (6)/ hollow ball connectors (6).............ccccceeiiennns
Steering bellcranks/ servo saver/ servo saver spring/ servo spring
retainer/servo horn, Steering ........ccccevuiiiiiniiiiiei s
Washers, 3x6mm metal (12) ...........ccooeeiiiiiiiiiiiiiciceeeeeecciiiiiiael

6743
6834

Suspension Linkage

Camber link set (plastic/ non-adjustable) (front &rear)....................
Suspension pin set, complete (frontand rear)................................

2514
9950
9909

Team Traxxas ltems

Decal sheet, racing SPONSOrS..........cccocciieririierrnnsee s
Official Team Traxxas racing decal set (flag logo/ 6-color).......
Traxxas racing banner, red & black (3x7 feet) .........ccccceveeernnn..e.

Tires & Wheels

5116
5854

3647
1747R
1747G

1985
1647
2754
5864

5885A

5883A

5880X

5880

5882

6873X

5882R

5877R

6873R

6874R

5863

5869

5867

5873R

Ball bearings, blue rubber sealed (5x11x4mm) (2) ........ccccoevieennenn
Hub retainer, 177mm hubs, M4 X 0.7 (4) (use with #5853X,
#6856X, #6469).......ccuiirereiriiir e —————
Nuts, 4mm flanged nylon locking (steel, serrated) (8)..........ccccu.....
Nuts, aluminum, flanged, serrated (4mm) (blue-anodized) (4)..
Nuts, aluminum, flanged, serrated (4mm) (green-anodized)

PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearings)...
SilICONE GraSE.......oiiiiiiiiiiii e
StUb @XI€ PINS (4) ..vveeiiieiiieeie e
Tire & wheel assy, glued (SCT black, orange beadlock
wheels, SCT off-road racing tires, foam inserts) (2) (2WD
FIONL) e
Tire & wheel assy, glued (SCT Split-Spoke, black, blue
beadlock wheels, BFGoodrich® Mud-Terrain™ T/A® KM2
tires, inserts) (2) (2WD Front)
Tire & wheel assy, glued (SCT Split-Spoke, black, blue
beadlock wheels, BFGoodrich® Mud-Terrain™ T/A® KM2
tire, inserts) (2) (4WD f/r, 2WD rear).......cccccvvuererriersncsecsnsnennns
Tires & wheels, assembled, glued (SCT satin chrome,
beadlock style wheels, Kumho tires, foam inserts) (2) (4WD
front/rear, 2WD rear only) .......ccccvcmrierneisecsinnncnnesssesesse e
Tires & wheels, assembled, glued (SCT satin chrome, black
beadlock style wheels, Kumho tires, foam inserts) (2) (4WD
front/rear, 2WD rear ONlY).........coiuiiiiiiiieeii e
Tires & wheels, assembled, glued (SCT Split-Spoke satin
chrome, black beadlock style wheels, Kumho tires, foam
inserts) (2) (2WD front) ......cccccvrminirinninsssesssee s
Tires & wheels, assembled, glued (S1 ultra-soft off-road
racing compound) (SCT Split-Spoke satin chrome, black
beadlock style wheels, BFG Mud-Terrain tires, foam inserts)
(2) (4WD front/rear, 2WD rear only)........ccccceverernernsecsnsseessnnsanans
Tires & wheels, assembled, glued (S1 ultra-soft off-road
racing compound) (SCT Split-Spoke satin chrome, black
beadlock style wheels, Kumho tires, foam inserts) (2) (2WD
FrONt) oo ———————————
Tires & wheels, assembled, glued (S1 ultra-soft, off-road
racing compound) (SCT Split-Spoke chrome, red beadlock
style wheels, BFGoodrich® Mud-Terrain™ T/A® KM2 tires)
(2) (2WD front) ..ccceeiceeiieiie i s
Tires & wheels, assembled, glued (S1 ultra-soft, off-road
racing compound) (SCT Split-Spoke chrome, red beadlock
style wheels, BFGoodrich® Mud-Terrain™ T/A® KM2 tires,
foam inserts) (2) (4WD f/r, 2WD rear) .......cccceeeverreriecsecsesnennnns
Tires & wheels, assembled, glued (S1 ultra-solft off-road
racing compound) (SCT Split-Spoke satin chrome, black
beadlock style wheels, Kumho tires, foam inserts) (2) (4WD
front/rear, 2WD rear only) .......ccccvceeriineinmsinnncsesssesesse e
Tires & wheels, assembled, glued (SCT black, orange
beadlock wheels, SCT off-road racing tire, foam inserts) (2)
(AWD f/r, 2WD FeaI) ...cevvurerrererruiesinessessssesssssssss s sss s sssn s snssssnsssnnes
Tires & wheels, assembled, glued (SCT chrome, red
beadlock style wheels, BFGoodrich® Mud-Terrain™ T/A®
KM2 tires, foam inserts) (2) (2WD front) ........ccccccvvvenrinnrinnsinnnns
Tires & wheels, assembled, glued (SCT chrome, red
beadlock style wheels, BFGoodrich® Mud-Terrain™ T/A®
KM2 tires, foam inserts) (2)(4WD front/rear, 2WD rear only).....
Tires & wheels, assembled, glued (SCT satin chrome red
beadlock wheels, ultra soft S1 compound off-road racing
tires, inserts) (2) (2WD rear, 4WD f/r) .....ccceveremrerrienicneceseee

5881X

5875

5873

5879

5878

5881

5875X

5873X

5875A

5875R

5873A

6873A

6873

6874

5885

5883

5877A

5877

5865

6876

6871

6871R

6870

6870R

5871

5871R

1654
1654X

6856X
5353

5480X
5870X

5868X

Tires & wheels, assembled, glued (SCT satin chrome,
beadlock style wheels, Kumho tires, foam inserts) (2) (2WD

Tires & wheels, assembled, glued (SCT satin chrome,
beadlock style wheels, SCT off-road racing tires, foam
inserts) (2) (2WD front)........cccceevvieniernmniicnss s
Tires & wheels, assembled, glued (SCT satin chrome,
beadlock style wheels, SCT off-road racing tires, foam
inserts) (2) (4WD front/rear, 2WD rear only) ......cc.cccueveersieessinnnns
Tires & wheels, assembled, glued (SCT satin chrome, black
beadlock style wheels, BFGoodrich® Mud-Terrain™ T/A®
KM2 tires, foam inserts) (2) (2WD front) .......ccccceeveeeiesiieeisiennns
Tires & wheels, assembled, glued (SCT satin chrome, black
beadlock style wheels, BFGoodrich® Mud-Terrain™ T/A®
KM2 tires, foam inserts) (2)(4WD front/rear, 2WD rear only).....
Tires & wheels, assembled, glued (SCT satin chrome, black
beadlock style wheels, Kumho tires, foam inserts) (2) (2WD front).
Tires & wheels, assembled, glued (SCT satin chrome, black
beadlock style wheels, SCT off-road racing tires, foam
inserts) (2) (2WD front)........ccceveiiieineininnnes e
Tires & wheels, assembled, glued (SCT satin chrome, black
beadlock style wheels, SCT off-road racing tires, foam
inserts) (2) (4WD front/rear, 2WD rear only) ........ccccccerrrinrennnnns
Tires & wheels, assembled, glued (SCT satin chrome, red
beadlock style wheels, SCT off-road tires, foam inserts) (2)
(2WD front)......cccceeeeiemescie i
Tires & wheels, assembled, glued (SCT satin chrome, red
beadlock wheels, ultra soft S1 compound off-road racing
tires, foam inserts) (2) (2WD front)........ccecvvmrinnrniecncncecniennanns
Tires & wheels, assembled, glued (SCT satin chrome, red-
beadlock style wheels, SCT off-road tires, foam inserts) (2)
(4WD front/rear, 2WD rear only) ...
Tires & wheels, assembled, glued (SCT Split-Spoke chrome,
red beadlock style wheels, BFGoodrich® Mud-Terrain™

T/A® KM2 tires, foam inserts) (2) (4WD f/r, 2WD rear)...............
Tires & wheels, assembled, glued (SCT Split-Spoke satin
chrome, black beadlock style wheels, BFGoodrich® Mud-
Terrain™ T/A® KM2 tires, foam inserts) (2) (4WD f/r, 2WD
rear)
Tires & wheels, assembled, glued (SCT Split-Spoke satin
chrome, black beadlock style wheels, Kumho tires, foam
inserts) (2) (4WD front/rear, 2WD rear only) .......cccceeeevveerersnnnnns
Tires & wheels, assembled, glued (SCT Split-Spoke, black,
satin chrome beadlock wheels, BFGoodrich® Mud-Terrain™
T/IA® KM2 tires, foam inserts) (2) (2WD Front)........ccccvceeriurnne
Tires & wheels, assembled, glued (SCT Split-Spoke, black,
satin chrome beadlock wheels, BFGoodrich® Mud-Terrain™
T/A® KM2 tire, foam inserts) (2) (4WD f/r, 2WD rear) .................
Tires & wheels, assembled, glued (SCT Split-Spoke, chrome
red beadlock style wheels, BFGoodrich® Mud-Terrain™

T/A® KM2 tires, foam inserts) (2) (2WD front) .........cccccvicieennnnes
Tires & wheels, assembled, glued (SCT Split-Spoke, satin
chrome, black beadlock wheels, BFGoodrich® Mud-Terrain™
T/A® KM2 tires, foam inserts) (2) (2WD front)........cccceceeiueennnnen
Tires & wheels, assembled, glued (SCT, chrome, green
beadlock wheel, BFGoodrich® Mud-Terrain™ T/A® KM2 tire,
foam inserts) (2) (2WD front only).......cccceemrimreininicncsceneeaes
Tires & wheels, assembled, glued (SCT, chrome, green
beadlock wheel, BFGoodrich® Mud-Terrain™ T/A® KM2 tire,
foam inserts) (2) (4WD front/rear, 2WD rear only).........ccevevrinenn
Tires, BFGoodrich® Mud-Terrain T/A® KM2 (dual profile
4.3x1.7- 2.2/3.0") (2)/ foam inSerts (2).......ccceverrvemrrsnerrsnesssnessanens
Tires, BFGoodrich® Mud-Terrain T/A® KM2 , ultra-soft (S1
off-road racing compound) (dual profile 4.3x1.7- 2.2/3.0") (2)/
foam iNSerts (2)......ccccoeviiimreicece
Tires, Kumho (dual profile 4.3x1.7- 2.2/3.0") (2)/ foam inserts (2)...
Tires, Kumho, ultra-soft (S1 off-road racing compound) (dual
profile 4.3x1.7-2.2/3.0") (2)/ foam inserts (2)......cccceeerruererrucnnene
Tires, off-road racing, SCT dual profile 4.3x1.7- 2.2/3.0" (2)/
foam inserts (2)....
Tires, Ultra soft, S1 compound for off-road racing, SCT dual
profile 4.3x1.7- 2.2/3.0" (2)/ foam inserts (2).......c.cccvverrierrinnnns
Wheel hubs, hex (2)/ stub axle pins (2) ......ccccevvveviieiiieciieeieeeenn
Wheel hubs, hex (blue-anodized, lightweight aluminum) (2)/

F D = o 1] T
Wheel hubs, splined, 177mm, short (4)/ wheel nuts, splined,
17mm (4) (blue-anodized)/ hub retainer M4 X 0.7 (4)/ axle pin
(4)/ wrench, SMM ...
Wheel nuts, splined, 17mm (blue-anodized) (4) ........ccoceruernens
Wheel wrench, splined, 17mm..........ccccviiinimininininnnnesessennn
Wheels, SCT black, orange beadlock style, dual profile (2.2
outer 3.0" inner) (2WD front) (2) .......cceverrieminininenisnsssnessessnens
Wheels, SCT black, orange beadlock style, dual profile (2.2"
outer 3.0" inner) (4WD f/r, 2WD rear) (2) ....ccccocvrruerrneersnerssneessnens




Page 5 Telluride 4x4: TQ 2.4GHz Radio (Model 67044-1) Parts List

5870 Wheels, SCT chrome, red beadlock style, dual profile (2.2”
outer, 3.0” inner) (2WD front) (2)........ccceoervierimniernsimnsenncineeienans
5868 Wheels, SCT chrome, red beadlock style, dual profile (2.2”
outer, 3.0” inner) (4WD front/rear, 2WD rear only) (2) -
5874 Wheels, SCT satin chrome, beadlock style, dual profile (2. 2'
outer, 3.0" inner) (2WD front) .......ccccccvneininnnninnne e
5872 Wheels, SCT satin chrome, beadlock style, dual profile (2.2"
outer, 3.0" inner) (4WD front/rear, 2WD rear only).........c.ceeuenue
5872X Wheels, SCT satin chrome, black beadlock style SCT, dual profile
(2.2” outer, 3.0” inner) (4WD front/rear, 2WD rear only) (2)............
5874X Wheels, SCT satin chrome, black beadlock style, dual profile
(2.2” outer, 3.0” inner) (2WD front) (2).........ccoeeviiiriieiiiiiiiieeeees
5874A Wheels, SCT satin chrome, red beadlock style, dual profile
(2.2" outer, 3.0" inner) (2WD front) (2) .......cccevererriernieniieessnnens
5872A Wheels, SCT satin chrome, red beadlock style, dual profile
(2.2" outer, 3.0" inner) (4WD front/rear, 2WD rear only) (2).......
5886A Wheels, SCT Split-Spoke, black, blue beadlock style, dual
profile (2.2" outer 3.0" inner) (2WD front) (2) ......cccceeereveriiennnns
5884A Wheels, SCT Split-Spoke, black, blue beadlock style, dual
profile (2.2" outer 3.0" inner) (4WD f/r, 2WD rear) (2) .....c.cccevnee
5886 Wheels, SCT Split-Spoke, black, satin chrome beadlock
style, dual profile (2.2" outer 3.0" inner) (2WD front) (2) ...........
5884 Wheels, SCT Split-Spoke, black, satin chrome beadlock
style, dual profile (2.2" outer 3.0" inner) (4WD f/r, 2WD rear)

6872X Wheels, SCT Split-Spoke, chrome, green beadlock style, dual
profile (2.2" outer 3.0" inner) (4WD front/rear, 2WD rear) (2) ...
5876A Wheels, SCT Split-Spoke, chrome, red beadlock style, dual
profile (2.2" outer 3.0" inner) (2WD front) (2) ........cccceeviineniinennnns
6872A Wheels, SCT Split-Spoke, chrome, red beadlock style, dual
profile (2.2" outer 3.0" inner) (4WD front/rear, 2WD rear) (2) ....
5876 Wheels, SCT Split-Spoke, satin chrome, black beadlock
style, dual profile (2.2" outer 3.0" inner) (2WD front) (2) ...........
6872 Wheels, SCT Split-Spoke, satin chrome, black beadlock
style, dual profile (2.2" outer 3.0" inner) (4WD front/rear, 2WD
1€Ar ONIY) (2) weoeeeiiieeeeeee et se e e
5866 Wheels, SCT, chrome, green beadlock style, dual profile (2.2"
outer 3.0" inner) (2) (2WD front only)......cccccevvimrniennienineennnnes
6875 Wheels, SCT, chrome, green beadlock style, dual profile (2.2"
outer 3.0" inner) (2) (4WD front/rear, 2WD rear only).................

Turnbuckles & Threaded Rods

6743 Camber link set (plastic/ non-adjustable) (front &rear)....................



